50 Minutes—No Calculator
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A bug begins to crawl up a vertical wire at time ¢ =0, The velocity v of the bug at time ¢,
0<t<8,is given by the function whose graph is shown above.

At what value of ¢ does the bug change direction?
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What is the total distance the bug traveled from =0 to =87
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An equation of the line tangent to the graph of y = cos(2x) at x =—E is
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11. The graph of the derivative of f is shown in the figure above.
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13. Let f be a function defined for all real numbers x. If f'(x) = _then f is decreasing on the
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15. The graph of the function f is shown in the figure above. Which of the following statements about
f s true?
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23. If the region enclosed by the y-axis, the line y=2, and the curve y = Jx is revolved about the
y-axis, the volume of the solid generated is
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